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% . In the figure on the right, we have:

I
- D
BC//FG, m /BAC = 80° and m ZACH = 120°. \\B ; /

What is the measure of angle ABE? 140° E

2. In each of the following cases, indicate whether the given information is sufficient or not to
prove that the triangles are congruent. If yes, indicate the theorem of congruency that applies.
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%. In each of the following cases, indicate whether the given information is sufficient or not
to prove that the triangles are similar. If yes, indicate the similarity theorem that applies.
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@. In the parallelogram ABCD on the right, diagonal AC is drawn. . 0
Show that triangles ABC and CDA are congruent.
Hypothesis: _ABC \S o e 5 o
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- . The two trapezoids on the right are similar.
What is the perimeter of the large trapezoid?
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. In the figure on the  right, we have: BC//DE, mAB = 2.5 cm,

mAE = 4.5 cm, mAD = 3.6 cm. Complete and justify the
following steps to find the measure of AC.

Consider triangles ABC and AED.
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- In the figure on the right, we have:
DE//BC, mDE = 3 cm, mBC = 7 cm and mEC = 4 cm.
Complete and justify the following steps to find the measure of AE.
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. Triangle ABC is isosceles with principal vertex A and the A

Ua'

segments BD and CE are congruent. Complete and justify the
steps proving that triangle ADE is isosceles.

Hypothesis: 1. AABCis isasceles 2. BB ® CE
Consider triangles ABD and ACE. - s
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In the f1gure on the right, triangles ABC and CBD are similar.

Find the perimeter of triangle ABC, to the nearest hundredth Km
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. In the figure on the right, rectangles ®, @ and ® are

similar. @ deml g

Determine the perimeter of rectangle ACDF. . i ® 13
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ABC is a right triangle in A and AH is the alt1tude from A 3, ly (3 u) ’13 "H

vertex A. Calculate the missing measures.
b=18; ¢c=24 _A=3 h=144 m=192 n=l08 .
h=108:b=18 n=144 2=22.5 C=135 m = 8.l
h=18; n=24 b=3 a=335 c=225m=1.35 8 H c
m=18; n=32 h=224 ¢=3 h=4 a=5 <

} a=25 m=09 €=1% b=2 h=12 n-=1Ik




